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Introduction
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Food | Calories Protein Fat

Cereal 120 4 2
Mama 130 3 5
Bread 105 1 2
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Example
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120c + 130m + 1056 = 245
4c+3m+1b=26
2c+5bm+2b=17
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Geometrically
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Geometrically
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Geometrically
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In a matrix form

@ 1NFIBYNY

120c + 130m + 1056 = 245
4c+3m—+1b=06
2c+b5m+2b=17

o imaansn@euluguves matrix I

120 130 105 c 245
4 3 1 |*x|m|=1]6
2 ) 2 b 7




Problem definition

o fvuaamsng A € R™™ newes b € R” uwavswaudu m, n € N

0 5M@INsUAn x Avliseuu Az = b Juasa

o 31NAUIN linear algebra 331U

> & m = nuaz A awnsom inverse I & = A~1b @warliuiugn)

> 81 m > n 1519858071 overdetermined system a1amAnaulald wseildneunin
aunsusauiianuduiusidaduneiu

> 81 m < 11519859071 underdetermined system anadinatgfiney




Solving LSE
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» Direct method: wAmaulnenss wingiumming A swaldlvgiuin Wuis Gaussian

elimination

> lterative method: mAmaulngUszanudmeneulsuuRAwmeuliituEesy wy

fuuming A aualve) WWds Gauss-Seidel method




Gaussian elimination

1 Forward elimination fan15daumsng A Tueglugy upper diagonal matrix Ingld

elementary operations

120 130 105 a b c
4 3 11— 1[0 d e (1)
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2 Backward substitution Aan13 solve mAdIwUsTasfaENINAILUIEATINY

a b ¢ T h
0 d e|l*|m| =11 2)
00 f 3 J

for example 3 = j/f




Elementary opertations
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1 2 3 1 8
2 3 2| % |m| = |10
31 2 3 7

0 AUADIYINUBIANNTT 1 88NAINAUNTT 2 LATENVIVDEUNTT 1 99NAINFNNTT 3

1 2 3 ) 8
0 -1 —A4|*|zm|=|—-6
0 -5 —7 3 —-17




1 2 3 Il 8
0 -1 —4|* || =|-6
0 -5 —7 23 —-17

o VINWWINUBIALNIS 2 |WInuaunIs 3

1 2 3 I 8
0 -1 —Af*x|x| =1|-6
0 0 13 3 13

@ Backward substitution lvinaansee 23 = 1, 2p = 2, 71 = 1




In picture
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So: forward elimination procedure

o lunsulas Az=bJu Az=V

o & pivot row Gy, Wag az; (@NTNUAIN ¢ nanh )

Qi — Z;’Zakj fork<i,j<n
ay =40 fork<i<mn,j=k
agj else

b; — Z,:]Zbk fork<i<n

v,

b; else




So: backward substitution procedure

bn,
Ip =
Qn,n
" . br—1 — Gn—1,nTn
n—1 —
ap—1,n—1
b2 — Un—2,nTn — Apn—2,n—1Tn—1
Tpn—2 =
an—2,n—2
n
bi— D i Qi
XT; =

Q5
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Problems with standard Gaussian elimination

o analdausaldnuldidiogn pivot Wu 0

01 il 8

*
1 1 T2 —6

o 9nalarmauNiAaIALAEREBYA pivot IA1UREY (numerical error) (see Page 160

by R. Hiptmair)

10710 1 z 8
*
1 1 T2 —6




How to avoid the problems

o niliavaudoguu pivot Waduwavesuning A Tndlilid zero pivot

o

o donunafazenanvindu pivot row laelduanig partial pivoting il

1 mangegavesAduysalvesandniuweitus Wived S, i=1...n

2 Al ratio nerhAduyseivesanBnynily column AMdsaeiing eliminate
W S; vosunIny

3 @onuaniidl ratio gsgaundu pivot row




Partial pivoting example
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Partial pivoting example

AW ratio Lie1a¥iN1T eliminate Tu column usn WU ratio YasuMmIARTNEIA1GIER

o1 2 1] [x] [1
32 1 @) x| |1
5 8 6 3 |x| |1
4 2 53| |x| |-1

. 1 ) 3 ) 5 )
T0t10r0w1 = 5, TAl0row2 = —, TALL0row3 = g, Tat10rous = 5

4




Partial pivoting example

911115 eliminate ASaWsN

X, 1

1 . -
HE First pivot
i equation
X, -1 <

0 -15 075 025][x] [125
0 05 -275 175 |x,| |175
0 55 -025 -075||x]| [225
4 2 5 3 |




Partial pivoting example

AU ratio WeaLyiinig eliminate Tu column Naeesield Nefllildan S; wunula

& 5% | v a < .
FINLLAIAIU WU']']L?'WT]?IGULLQTW 110U pIVOt row

0 -1.5 075 025][x] [1.25
0 05 -275 175||x| [1.75
0 55 -025 -075]|x,| |2.25
4 2 5 3] |x] | -1

9.5

) 1. . 0.5 .
ratiorowl = 77 ratiorou2 = T7 ratiorows = ?7




Partial pivoting example

Ioadnsndanisvin eliminate 1Ju

025 | |

-1.5 0.75
0 |-25 1.8333
0 0.25 1.6667
2 5 3

[ 1.25 |
2.1667
6.8333




Partial pivoting example

o

Wedugan13¥i forward elimination ildluv3ndasil Faannsailuvin backward

substitution #al

0 -1.5 075 025 ]| [x]| [ 125
0 0 =-25 1.8333] [x,| |2.1667
0 0 0 2 | |x 9
4 2 5 30 (x| -1




How to determine if solution is good ?

o AN wainves Az fu b gldlaeimuali residue 1Uu
R=Az—-b (3)

o Wewn Az uay b 1lunawes R Aldunaweime lnean r; uanmaniaves z; fu
b;

o Wistlisnazeansummaunlaain algorithm 1ile
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lterative method




lterative method

o dunniN3 direct method 8819 Gaussian elimination gavnemaulagy A’ b 7

awnsnlUlim z lelnenss
o IBasnamenaldnalunisanauiumn A Svunalvegy)

o FaflumnAnnagmenau z lnersineu umAssUsulssmnauilalinvusesq

o BENITNUSUUTIAmaulUFosY 71 iterative method

=

o TuAnfis192u139nT3 iterative method 71ii%931 Gauss-Seidel method




lterative method

NANN1SWUFIUYDLTT iterative method
o LAgUMISIAaTANNISIMAIBY 2;

> Adananenafindudslainsuadu uilahduls
o MuuAANTUAIYES 2; InEN1IAEY
o uAenguunldiemeAves z;
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Gauss-Seidel method

o MUUAFUNTISUAY

a1171 + a1270 + -+ a1 = by

a1 + a1z + - - - + agpzy, = by

a1 @1 + Q22 + -+ AppTy = bys

Y v '
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Gauss-Seidel method

o waglenadnsidu

b1 — a12m2 — 1373 — -+ — 1Ty
I =
ari
by — ag1m1 — A2373 — -+ — A2, Ty
To =
a2
bp — a1 — Gpa — -+ - — an,n—1Tn—1
Ty, =

QAnn




Gauss-Seidel method

o viseausadeuagllaidu dwduaunsi ilag w5agld z; fewiiu
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bi = D i1 i G
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When to stop ?
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o wanIaneANsUTuUTIAT 2; WeAnduiuAlnidAssiulaendy threshold 7
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Time | Velocity

5 106.8
8 177.2
12 279.2

o

o MUUAAINIEITEIRTIA Bl aenee Tududsll
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o(t) = ; +apt+az, 5<t<12




Example

o Jeuluguvosdndlaidu

i
5t
8Bt

o nlandisarlasruvaunis

4l
45

3

I

T2

I3

0
U2
U3

106.8
177.2
279.2



25 5 1 Ty 106.8
64 8 1| * |m| = |177.2
144 12 1 73 279.2

a o ' v
o WeulugUaunsnien z; egnedne

1068—511}2 — 13

I =
25
177.2 — 64 - 21 — x3
Ty = 3
279.2 —144 - 21 — 12 - 1»
I3 —




Example

o F@WNTAIAT Z IFuAUladee

I 1
o | = 2
€3 b5
o udUTuugerves z Y
106.8 —=5-2—5
= = 3.672
il 5 3.67
177.2 — 64 -3.672 —
1y = 7 68367 52—7.851

279.2 — 144 - 3.672 — 12 - —7.851
xr3 =

= —155.36




Example

o ek iteration 7 1 lUisnaglaan

1 3.672
x| = | —7.851
73 —155.35

o lneilan relative change w84 z; wiagddu

3.672— 1
|20 100 = 72
e s ‘x 00 = 72.76%
7851 — 2
| S T A 100 = 1254
e - ‘x 00 = 125.47%
—155.36 — 5
= | 222920 T 00 100 = 103.22
“ —155.36 ‘X 00 = 103.22%




Example

o Iteration 2 190

x| = | —7.851
23 —155.35

o g lnaiidu

106.8 — 5 - —7.851 + 155.36

7 = o = 12.056
177.2 — 64 - 12.056 + 155.36
7 = g + = —54.882

279.2 — 144 - 12.056 — 12 - —54.882
I3 =

= —789.34
1




o iU iteration 71 2 A relative change 09 2; UagdLlu

€1 —

€y =

€3 —

12.056 — 3.672
= 2P 100 = 69.54
o5 | X 100 = 09.54%
—54.882 — 7.851
| ¥ 100 = 85.69%

—789.34 — 155.36

) % 100 = 80.54%

—789.34




Example

o yinvluiFeysazlan

[teration T el ) €9 X3 €3
1 3.672 | 72767 | -7.8510 | 125.47 | -155.36 | 103.22
2 12.056 | 69.543 | -54.882 | 85.695 | -798.34 | 80.54
3 47.182 | 74.447 | -255.51 | 78.521 | -3448.9 | 76.852
4 193.33 | 75.595 | -1093.4 | 76.632 | -14440 | 76.116
5 800.53 | 75.85 | -4577.2 | 76.112 | -60072 | 75.963
6 3322.6 | 75.906 | -19049 | 75.972 | -249580 | 75.931

@ 3pn relative change bLJJ'Q'L"ijWEj 0 a8




What’s the problem ?

e ANUITIUAT Gauss-Seidel algorithm anansaldlannusyuvaunsiwmsng A &

AMANYE diagonally dominant

@ Diagonally dominant matrix AaLun3ngi
> AduUSEANSUU diagonal element SiAmNnninvE BN UNATINYBIRUUTE VDAY
& n
Tuwanidu |az| > D700 1] ai ]

o

> uav@osdl 1 wafl diagonal element fannnniwasinvesduusyansidualulaitiy

sl > 3751 jzilai] strictly largen)




What’s the problem ?

o umsndreluilifu diagonally dominant matrix w3ell

2 5 3
45 43 1
124 6 1

o umsndreluilifu diagonally dominant matrix w3ell

125 34 56
23 53 8
96 34 130




12 3 -5 a1 1
1 5 3 |x*|xm| =28
3 7 13 3 76

a o ' v
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1—3 -2 +5- 13
"= 12
_28—1}1—3~£I,‘3
a 5
7631 —T-m

T2

3
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Example 2

o F@WNTAIAT Z IFuAUladee

ol
o | = 0
x3 1
o udUTuugerves z Y
1-3-0+5-1
=—F——— =05
n 12
28—05-3-1
Ty = — 5 - 4.9
76—-3-05-7-49
T3 = =3.1
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o A1 error ¥4 x; Wiazdudu

€1 —

€y =

€3 —

0-5 - 1‘ % 100 = 100%
05

49— O’ % 100 = 100%
19

311

‘ % 100 = 67.72%

3.1




Example 2

o Iteration 2 190

T 0.5
| = (4.9
T3 3.1

o g lnaiidu

1-3-4945-3.1

Tl 12 0 6
28 —0.146 — 3-3.1
To = 5 =3.71

—3-0.146 — 7 - 4.
:76 3-0.146 -7 9:3.81

3

13




o Lilar"u iteration 91 2 A relative change 09 2; UagdLlu

€1 —

€y =

€3 —

0.146 — 0.5
W‘ % 100 = 240.61%
371 — 4.9

T‘ « 100 = 31.89%
381 —3.1

‘ % 100 = 18.87%

3.81




Example 2

o winvhluFeysazlan

[teration 1 €1 To € X3 es

1 0.5 100 4.9 100 3.0923 | 67.662
2 0.14679 | 240.61 | 3.7153 | 31.889 | 3.8118 18.876
3 0.74275 | 80.236 | 3.1644 | 17.408 | 3.9708 4.0042
4 0.94675 | 21.546 | 3.0281 | 4.4996 | 3.9971 | 0.65772
5
6

0.99177 | 45391 | 3.0034 | 0.82499 | 4.0001 | 0.074383
0.99919 | 0.74307 | 3.0001 | 0.10856 | 4.0001 | 0.00101

o Fsein z vheandudinoude [0.9999 3.0001 4.0001]




Last word

o nnaauwnIvenuning A vesegnstnsnulilaly diagonally dominant matrix

Gauss-Seidel algorithm fAaglauszauanudisa

satuuddmsuulang sdnlusgdesdniSouavesumindduussanslveglugy

494 diagonally dominant (@eneu (Bnvila)
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